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Problem 1. Let S and T be non-empty, bounded subsets of R and suppose
that S C T. Prove that supS <supT.
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Problem 2. Let A,B C R be given sets that are nonempty and bounded
above. Define C' = {a+b:a € A,be B}. Use today’s lemma to prove that
sup C = sup A+ sup B.
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Problem 3. For each set below, give its maximum and minimum (if they exist),
as well as its supremum and infimum.

a. The half open interval (—2,4] = {z e R: -2 < z < 4}.
b. {1/n:n e N}

c. Moeq(=1/n,1+1/n)

d. {TEQ:O<T2§2}

e. {reR:0<r?<2}
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